HMHHIN

v
v A
TuaanuIniloysIusIN CODE veenn Iilsuasuges Tauezi§oesoeonty

o o W &
f\‘lﬂuaﬂﬂiﬂ!ﬂﬁrﬂaiﬂiuﬂsﬂ

1. malszmadanlsillfllualisunsudes

Option Explicit

Option Base 1

Private M As Integer, NR As Integer, NRJ As Integer, E As Single, EL() As Single

Private ZI(} As Single, JRL() As Single, NLJ As Integer, Uy() As Single, NTL As Integer

Private AJ() As Single, AML() As Single, ND As Integer, N As Integer, NDJ As Single

Private ID() As Integer, LML() As Integer, NJ As Integer, JO As Integer,-LN As Integer

Private DJ() As Single, AM() As Single, AR() As Singie, P As Single, A As Single, _
WU AsSingle |

Private TYP As Integer, WT As Single, MMT As Single, NPL As Integer, NUL As Integer

Private NML As Integer, D As Single, RTT() As Single

Const MD =4

Const NB=4




2. Tilsunsustias BANFAC
Private SuB BANFAC(N As Integer, NB As Integer, A() As Single)
Dim J As Integer, J1 As Integer, J2 As Integer, SUM As Single
Dim I As Integer, K As Integer, 11 As Integer, TEMP As Single
If A(1, 1) <= 0 Then |
MsgBox "Stiffness matrix is singular for continuous beam", vbOKOnly
Exit Sub
End If
ForJ=2ToN
n=J-1
J2=J-NB+1
IfJ2<1ThenJ2=1
IfJ1 <> 1 Then
ForI=2TolJl
Ii=1-1
IfI1 >=J2 Then
SUM =A(LJ-1+1)
ForK=J2Toll
SUM=SUM- A(K,I-K+ 1) * AK,J-K+1)
Next K
A T-1+1)=SUM
End If
Next1
End If
SUM = A(J, 1)
ForK=J2To 1
TEMP=A(K,J-K+ 1)/ AK, 1)
SUM =SUM - TEMP * A(K,J-K+1)
A(K,J- K+ 1)=TEMP

Next K
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Next J
End Sub

H SUM <=0 Then
MsgBox "Stiffness matrix is singular for continuous beam”, vbOKOnly
Exit Sub

End If

A, 1)=SUM
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3, Tilsunsugas BANSOL

Private Sub BANSOL(N As Integer, NB As Integer, U() As Single, B(} As Single, X() As Single)
Dim I As Integer, J As Integer, K1 As Integer, K As Integer, K2 As Integer, I1 As Integer
Dim SUM As Single
ForI=1ToN

J=I-NB+1
If1<=NB ThenJ =1
SUM = B(I)
Kil=I-1
If 3 <= K1 Then
ForK=JTo Kl
SUM = SUM - U(K, T- K+ 1) * X(K)
Next K
End If
X(I) = SUM
Next I
Fori=1ToN
XM =X({D /U, 1)
Next 1
Foril=1ToN
[=N-I1+1
J=I+NB-1
IfI>NThenJ=N
SUM =X(I)
K2=1+1
If K2 <=J Then
ForK=K2TolJ
SUM=SUM-U(I,K-I+1)*X(K)
Next K
End If
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X(I)=SsuM
Next 11
End Sub
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4, Tlsunsusion cmdJointRe
Private Sub cmdJointRe Click()
Dim J As Integer, K As Integer, NI As Integer
On Error GoTo Err_Hand
ReDim JRL{ND)
ReDim ID(ND)
imgRes.Visible = True
ForJ=1ToND
JRI(J) =0
NextJ
Listl.Addltem " "

List].Addltem "Joint Restraints"

Listl Addltem " "

Listl.Addltem "Joint JR1 JR2"
ForJ=1ToNRJ
K = InputBox("Input joint index", "Joint Restraints", "Joint", 6174.1, 1420)
JRL(2 * K - 1) = InputBox("Input JR1", "Joint Restraints", "JRI", 6174.1, 1420)
JRL(2 * K) = InputBox("Input JR2", "Joint Restraints”, "JR2", 6174.1, 1420)
Listl.Addltem K & " "&IRLZ*K-1)&" " & JRL(2 *K)
NextJ
N1=0
ForJ=1ToND
N1 =Nl + JRLQ)
If JRL(Y) > 0 Then
~ DU)=N+NI
Else
D) =J-NI
End If
Next J
cmdl.oadD.Enabled = True
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imgRes.Visible = False
Exit Sub
Err_Hand:
MsgBox "Please input 'Joint Restraint’ again”, vbOKOnly, "ERROR DATA"
End Sub



5. Tisunsugas cmdLoadD

Private Sub cmdLoadD_Click()

Dim J As Integer, K As Integer, I As Integer, FEM(8) As Single

On Error GoTo Err_Hand
cmdPoint.Enabled = True
cmdUnif.Enabled = True
cmdTriL Enabled = True

 cmdMMT.Enabled = True

IN=LN+1
Listl.AddItem "=

Listl.AddItem "Load Data"

Listl.AddItem "=——=—=—
Listl.AddItem "Loading No." & LN
NLJ = InputBox("Input number of loaded joints", "Load Data", "NLI", 6174.1, 1420)

NDJ = InputBox("Input number of displacement joints", "Load Dat.

1420)

NPL = InputBox("Input number of point load", "Load Data", "NPL", 6174.1, 1420)
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NDJ“, 6174.1, _

NUL = InputBox("Input number of uniform load", "Load Data", "NUL", 6174.1, 1420)

NTL = InputBox("Input number of triangelar load", "Load Data", "NTL", 6174.1, 1420)

NML = InputBox("Input number of moment load", "Load Data", "NML", 6174.1, 1420)

Listl.AddItem "Number of loaded joints = " & NLJ
List!.AddItem "Number of displacement joints = " & NDJ
Listl.Addltem "Number of point load = " & NPL
List}.AddItem "Number of uniform load = " & NUL
Listl.AddlItem "Number of triangelar load = " & NTL
List1.AddItem "Number of moment load = " & NML

ReDim AJ(ND)
ReDim Uy(NJ)
ReDim RTT(NI)
ForJ=1ToND
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AJ) =0
NextJ
ForJ=1ToNJ
Uy =0
RTT() =0
NextJ
If NLJ <= 0 Then
imgJL.Visible = True

List]l.AddItem " :

List] . Addltem *Actions At Joints™

Listl.AddItem " "
Listl.Addltem "Joint AJ1 AJ2"
For¥=1ToNLJ
K = InputBox("Input joint index", "Action At Joints", "JOINT"
6174.1, _1420)
AJ2 * K - 1) = InputBox("Input AJ1", "Action At Joints", "AJ1", _
6174.1, 1420)
AJ(2 * K) = InputBox("Input AJ2", "Action At Joints", "AJ2", _
6174.1, 1420)
Listl.Addltem K & " "&AIZ*K-1D&" "& AJ2*K)
NextJ
End If
ReDim AML(4, M)
ReDim LML{M)
ForJ=1ToM
LML(H) =0
FoK=1To4
AMUK, D) =0
Next K
NextJ
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imglL.Vigible = False
If NDJ <> 0 Then
imgDJ. Visible = True
Listl.AddItem " "

List1.AddItem "Displacement At Joints"
Listl.AddItem " "

Listl.Additern "Joint Uy Rotation"
ForI=1 ToNDJ
K = InputBox("Input joint index", "Displacement At Joints", _
"JOINT", 6174.1, 1420)
Uy(K) = InputBox("Input displacement at joints "& K &"," & _
"Uy" , "Displacement At Joints", "Uy", 6174.1, 1420)
RTT(K) = InputBox("Input rotation at joints " & K, _
"Rotation At Joint", "RTT", 6174.1, 1420)
ListL Addliten K &" "&Uy(K)&" " &RTT(K)
FEM(1) =12 *E * ZI(K - 1) * Uy(K) / EL{(K - D) ~ 3
FEM(2)=6*E * ZI(K - 1) * Uy(K) /EL(K - ) " 2
FEM(3) =12 *E * ZI(K) * Uy(K) / EL(K) ~ 3
FEM(4) =6 * E * ZI(K) * Uy(K) / EL(K) ~ 2
FEM(5)=6*E* ZI(K- 1) * RTT(K) /EL(K - 1)~ 2
FEM(6)=2*E * ZI{(K - 1) * RTT(K) / EL(K - 1)
FEM(7)=6 *E * ZI(K) * RTT(K) /EL{(K) ~ 2
FEM(8)=2*E * ZI(K) * RTT(K) / EL(K) |
Setect Case K
Case 1

AML(1, K} = FEM(3) + FEM(7)

AML(2, K) = FEM(4) + 2 * FEM(R)

AML(3, K) = -FEM(3) + FEM(7)

AML(4, K) = FEM(4) + FEM(8)

LML(K) =1



Case NJ

AML(1, K - 1) = -FEM(1) + FEM(5)
AML(2, K - 1) = -FEM(2) + FEM(6)
AML(3, K - 1) = FEM(1) + FEM(5)
AML(4, K - 1) = -FEM(2) + 2 * FEM(6)
LML(K -1)=1

Case Else

End Select
Next 1
End If
imgDJ.Visible = False

AML(1, K - 1) = -FEM(1) + FEM(5)
AML(Z, X - 1) = -FEM(2) + FEM(6)
AML(3, K - 1) = FEM(1) + FEM(5)
AML(4, K - 1) = -FEM(2) + 2 * FEM(6)
LML(K-1)=1

AML(I, K) = FEM(3) + FEM(7)
AML(2, K) = FEM(4) + 2 * FEM(8)
AML(3, K} = -FEM(3) + FEM(7)
AML(4, K} = FEM(4) + FEM(R)
LML(K} = 1

If NPL <> 0 Or NUL <> 0 Or NTL <> 0 Or NML <> 0 Then

Imagel.Visible = True

cmdPoint, Visible = True

cmdUnif.Visible = True

cmdTriL_Visible = True

cmdMMT.Visible = True

End If

If NPL = 0 Then cmdPoint,Enabled = False

If NUL = 0 Then cmdUnif.Enabled = False
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If NTL = 0 Then cmdTriL.Enabled = False
I'NML = 0 Then cmdMMT.Enabled = False
IfNPL = 0 And NUL =0 And NTL = 0 And NML =0 Then cmdResult.Enabled = True
Exit Sub
Err Hand:
MsgBox "Please input ‘Load Data' again", vbOKdnly, "ERROR DATA"
End Sub
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6. 1Usunsugios cmdMemin

Private Sub cmdMemIn_Click()
Dim J As Integer, I As Integer
On Error GoTo Err_Hand
ReDim EL(M)
ReDim ZI(M)
Listl.AddIter " “

Listl.AddItem "Member Information”
List]. AddItem " "

Listl Additem "Member Length Moment of inertia”
ForJ=1ToM
I = InputBox("Input member index", "Member Information", _
"MEMBER", 6174.1, 1420)
EL(I) = InputBox("Input length of member" & I, "Member Information", _
"EL", 6174.1, _ 1420)
ZI(I) = InputBox("Input moment of inertia" & I, "Member Information”, "Z1",
6174.1, _ 1420)
Listl.Additem I & " "& EL(I) &" " & ZI(T)
Next J
cmdJointRe.Enabled = True
Exit Sub
Err_Hand;
MsgBox "Please input 'Member Information' again®, vbOKOnly, "ERROR DATA"
End Sub



7. Jdsunsudes cmdMMT

Private Sub cmdMMT_Click()
Dim I As Integer, K As Integer
On Error GoTo Err_Hand
imgMMT.Visible = True
Listl.AddItem " "

Listl.AddItem "Moment Load"

Listi.Addltem " *
Listl.Addltem "Member MMT d"
ForK =1 To NML

I = InputBox("Input member number”, "Moment Load", "MEMBER", _

6174.1, 1420)

MMT = InputBox("Input value of moment , MMT", "Moment Load", _

"MMT", 6174.1, 1420)

D = InputBox("Input distance, d", "Moment Load", "d", 6174.1, 1420)
Listl. AddlitemI&" “"& MMT&" "&D
AML(1, I} = AML(1,I) + 6 * MMT * D * (EL(I) - D) / EL{I) ~ 2
AML(2, I) = AML(2, 1) + MMT * (EL(I) - D) / EL(I) * (3 * D/ EL(I) - 1)
AML(3, I} = AML(3, ) + (-6 * MMT * D * (EL(I) - D) / EL(I) » 2)
AML(4, I) = AML(4, 1) + MMT * D/ EL(I) * (3 * (EL(I) - D) / EL(I} - I)
LML) =1

Next K

cmdMMT.Enabled = False

cmdResult Enabled = True

imgMMT.Visible = False

Exit Sub

Err_Hand:
MsgBox "Please input 'Load Data' again", vbOKOnly, “ERROR DATA"
imgMMT.Visible = False

Image!l.Visible = False
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cmdPoint.Visible = False

cmdUnif. Visible = False

emdTriL.Visible = False

cmdMMT. Visible = False
End Sub
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8. lilsunsudes cmdPoint

Private Sub cmdPoint_Click()

Dim K As Integer, T As Integer

On Error GoTo Err_Hand

imgPoint.Visible = True

Listl, AddItem "=————cwmm="'

Listl.Addltem "Point Load"

Listl. AddItem "=—=————m=—a

Listl.AddItem "Member P a*

ForK=1 To NPL
I = InputBox("Input member index", "Point Load", "MEMBER", 6174.1, 1420)
P = InputBox("Input value of point load , P", "Point Load", "P", 6174.1, 1420)
A = InputBox("Input distance , a", "Point Load", "a", 6174.1, 1420)
ListLAdditemI&" “&P&" "&A
AML(L, I) = AML(L, 1) + (-P * (EL(I) - A) / EL{I) * (A * (EL(I) - A)/ B

EL(D"2-A"2/EL()~2+1))
AML(2, 1) = AML(2, D+ (-P* A * (EL(D-A)~2/EL(D"2)
AML(3,I) = AML(3, 1) + (P * A / EL(}) * (A*(EL(}-A)/ _
EL{(D) ~2-(ELM)- A)*2/EL() ~ 2+ 1)

AML(4, )= AML{4, ) + (P * A" 2 * (EL(I) - A) / EL(D) ~ 2)
LML) =1

Next K

cmdPoint.Enabled = False

cmdResult Enabled = True

imgPoint.Visible = False

Exit Sub

Err Hand:
MsgBox "Please input 'Load Data' again”, vbOKOnly, "ERROR DATA“
imgPoint.Visible = False

Imagel.Visible = False



cmdPoint.Visible = False
cmdUnif, Visible = False
emd Tril.Visible = False

cemdMMT.Visible = False

End Sub
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9. Tsunsueies cmdPriat

Private Sub cmdPrint_Click()
Dim I As Integer
On Error GoTo Err_Hand
Printer.Print " "
Printer.Print "Structural Data"
Printer.Print " "
Printer.Print "Number Of Members = " & M

Printer.Print "Number Of Support Restraints = * & NR
Printer.Print "Number Of Restrainted Joints = " & NRJ
Printer.Print "Modulus Of Elasticity = " & E
Printer.Print “Number Of Joints = " & NJ

Printer.Print "Number Of Degree Of Freedom = "& N

Printer Print * "
Printer.Print "Member Information™
Printer.Print * !

Printer.Print "Member Length Moment Of Inertia"
Fori=1ToM

Printer.Print I & " “&EL(T) &" " & ZI()
Next I
Printer.Print "Member JR1 JR2"
Forl=1ToNJ

Printer.Print [ & " " & JRLL2 *I-1)&" " & JRL{2*])
Next I

Printer.Print "
Printer.Print "Load Data"

Printer.Print ===

Printer.Print "Loading No. " & LN
Printer.Print "Number Of Loaded Joints =" & NLJ

Printer.Print "Number Of Displacement Joints =" & NDJ



Printer.Print "Number Of Point Loads =" & NPL
Printer.Print "Number Of Uniform Loads =" & NUL

Printer.Print "Number Of Trianfular Loads =" & NTL
Printer.Print "Number Of Moment Loads =" & NML

IfNLJ <> 0 Then -
Printer.Print " 4

Printer.Print "Actions At Joints"
Printer.Print " "
Printer.Print "Joint AJF1  AJ2"
ForI=1ToNJ
Printer.Print 1 & "

"&AIQ*I-D&"
NextI

End If

If NDJ <> 0 Then
Printer.Print * !

Printer.Print "Displacement At Joints"
Printer.Print * "
Printer.Print "Joint
ForI=1ToNJ

Uy Rotation"

- Printer.Print 1 & " " & Uy(I) & RTT(I)
Next 1
Printer.Print ""
End If
Printer.Print " "

Printer.Print "Joint Displacement"

Printer.Print "= "

Printer.Print "Joint DJ1 DJ2"
Forl=1 To NJ
Printer.Print 1 & " "&DI2*[-1)&"

Next |
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Printer.Print * "

Printer.Print "Member End - Actions"

Printer.Print * et

Printer.Print "Member AM1 AM2 AM3 AM4"

ForI=1ToM
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Printer.Print [ & " "& AM(1,D&" "&AMQ,D&" "& AMG3, D&

" & AM(4,D
Next ]
Printer.Print " !

Printer.Print "Support Reactions"

Printer.Print " "
Printer.Print "Joint AR! - AR2"
ForI=1ToNJ
PrinferPrint [ & " " & ARQ*I-1)&" "&AR(2*])
Next [
Printer.EndDoc
Exit Sub
Err_Hand:
MsgBox "Please input data again”, vbOKOnly, "ERROR DATA"
End Sub



10. launsuges_cmdQUIT
Private Sub cndQUIT_Click()
frmBeam.Hide
frmMain.Show
End Sub
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Il.iﬂi!!ﬂ‘iuﬁﬁﬂ cmdResult

Private Sub crndResult Click()

Dim J As Integer, K As Integer, SCM1 As Single, SCM2 As Single
Dim SCM3 As Single, SFF() As Single, I1 As Integer, I2 As Integer
Dim AE() As Single, JR As Integer, IR As Integer, DF() As Single -
Dim AC() As Single, IC As Integer, ITEM As Integer, IM(4) As Integer
Dim AMDX() As Single, DM() As Single, I As Integer, J1 As Integer
Dim J2 As Integer, N1 As Integer, JE As Integer, SM(4, 4) As Single
On Error GoTo Err_Hand
Imagel.Visible = False
cmdPoint.Visible = False
cmdUnif. Visible = False
emdTril.Visible = False
cmdMMT.Visible = False
ReDim SFF(N, NB)
ReDim AE(ND)
ReDim AR(ND)
ForJ=1ToND

AEM =0

AR(J)=0
Next J
ForJ=1ToN

ForK=1ToNB .

SFF(J,K) =0

Next K
Next J
Fori=1ToM

SCM1 =4*E* ZI(I) / EL()

SCM2 = 1.5 * SCM1/EL(D

SCM3 =2*SCM2/EL()
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SM(1, 1) = SCM3
SM(1, 2) = SCM2
SM(1, 3) =-SCM3
SM(1, 4) = SCM?2
SM(2, 2) = SCM1
SM(2, 3) =-SCM?2
SM(2, 4) = SCM1/2
SM(3, 3) = SCM3
SM(3, 4) =-SCM2
SM(4, 4) = SCM1
IM(I)=2*1-1
IM(2)=2*1
IM(3)=2*]+1
IM(4)=2%1+2
ForJ=1 To MD
I =1
If JRL(I1) <= 0 Then
For K=JTo MD
2 =IM(K)
If JRL(I2) <= Q Then
IR =1D(I1)
IC = ID(12)
If IR >=IC Then
ITEM = IR
IR=IC
IC =ITEM
End If
IC=IC-IR+1
SFF(IR, IC) = SFF(IR, IC) + SM(J, K)
End If



-

Next K
End If
Next J
Next I
Call BANFAC(N, NB, SFF())

H'NDJ <> 0 Or NPL <> 0 Or NUL <> 0 Or NTL. <= 0 Or NML <> 0 Then

ForI=1ToM
If LML(I) <> 0 Then
AE2*1-1)=AE(2*1-1)- AML(1,1)
AE(2*1)=AEQ2*I)- AML(2,
AEQ*I+1)=AE@*I+1)- AML(3,1)
AE(2*I+2)=AE(2*I+2)- AML(4,1)
End If
Next I
End If
ReDim AC(ND)
ForJ=1ToND
JR =1D(J)
AC(JR) = AJ(J) + AE(D)
Next J
ReDim DF(N)
ReDim DI(ND)
Call BANSOL(N, NB, SFF(), AC(), DF()}
J=N+1
ForK=1ToND
JE=ND-K+1
If JRL(JE) =0 Then
I=J-1
DJ(JE) = DF(J)
Else
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DI(JE) =0
End If
Next K

Listl.AddItemn " "

List1.Addltem "Joint Displacement"

List1. AddlItem " "
Listl.Addltem "Joint DJI DJ2"
ForI=1ToNJ

ListLAddltemJ & " “&DIQ2*J-1)&" "&DI2*))
Next J
Listl.AddItem " "

Listl.AddItem "Member End - Actions"

List].AddItem " "
List].Addltem "Member AMI1 AM2 AM3 AM4"
ReDim AM(MD, M)
ForI=1ToM

SCM1 =4*E * ZK(I) / EL(I)

SCM2 = 1.5 * SCM1/ EL(I)

SCM3 =2 * SCM2 / EL(I)

SM(1, 1) = SCM3

SM(1, 2) = SCM2

SM(1, 3) =-SCM3

SM(1, 4) = SCM2

SM(2, 2) = SCM1

SM(2, 3) =-SCM2

SM(2, 4)=S8SCM1/2

SM(3, 3) =SCM3

SM(3, 4) = -SCM2

SM(4, 4) = SCM1

IM(})=2*]-1
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IM(2)=2*1
IM(3)=2*1+1
M) =2*1+2
For)=2To4
Jo=J-1
ForK=1ToJO
SM(J, K) = SM(K, I)
Next K
NextJ
ReDim AMD(MD)
ReDim DM(MD)
ForJ=1ToMD
AMD(J) =0
ForK=1ToMD
11 =1IM(K)
DM(K) = DI(11)
AMD(I) = AMD(J) + SM(J, K) * DM(K)
Next K
AMQ), I) = AML{J, I) + AMD(J)
12 = IM(J)
If JRL(I2) <> O Then
AR(12) = AR(I2) + AMD(J)
End If
Next ]
AM(1, I) = Round(AM(1, 1), 4)
AM(2, I) = Round(AM(2, 1}, 4)
AM(3, T) = Round(AM(3, 1), 4)
AM(4, T) = Round(AM(4, 1), 4)
Listl.Addltem [ & " "& AM(L,LD&" "&AMQ2,D&" "& AMGB, D&
"o & AM4, 1)



Next I
ForJ=1ToND
If JRL(J) < 0 Then
AR(J) = AR(Q)) - AJ(J) - AE(J)
End If
NextJ

List1.AddItern " "
Listl.AddItem "Support Reactions”
Listl. Additem " "

Listl.AddItem "Joint ARl AR2"
ForJ=1ToNJ
J1=2%J-1
J2=2%]
NI =JRL{J1) +JRL{J2)
If N1 <> ¢ Then
AR(J1) =Round(AR(J1), 4)
AR(J2) =Round(AR(J2), 4)
Listl.Addltem J &" "& AR(JI)& "
End If
Next }
cmdResult.Enabled = False
Exit Sub
Err_Hand:

MsgBox "Please input data again", vbOKOnly, "ERROR DATA"

End Sub

" & AR(J2)
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12. 11lsunsnepe cmdStruc

Private Sub cmdStruc_Click()
On Error GoTo Err Hand
imgScreen.Visible = False
Listl.Visible = True
Listl.Clear
M = InputBox("Input number of member", "Structure Data", "M", 6174.1, 1420)
NR = InputBox("Input number of support restraints”, "Structure Data", "NR",
6174.1, 1420)
NRJ = InputBox("Input numbér of restrainted joints", "Structure Data", "NRJ",
6174.1, 1420) '
E = InputBox("Input modulus of elasticity", *Structure Data", "E", 6174.1, 1420)
NI=M+1
ND =2 *NJ
N=ND-NR

Listl. AddItem " "
Listl.AddItem "Structural Data"

List]l Addltem " "

Listl.AddItem "Number of members="& M
Listl.Addltem "Number of support restraints = " & NR
Listl.Addltem "Number of restrainted joints = " & NRJ
Listl.Addltem "Modulus of elasticity = " & E
Listl.AddItem "Number of joints = " & NJ
Listl.Addltem "Number of degree of freedom = " & N
cmdMemIn.Enabled = True
Exit Sub
Err_Hand:
MsgBox "Please input data again”, vbOKOnly, "ERROR DATA"
End Sub



143

13. 1sunsuelag emdTril

Private Sub cmdTril,_Click()
Dim K As Integer, I As Integer
On Error GoTo Err_Hand

imgTri.Visible = True

List], Addltem * "
Listi.Addltem "Triangular Load"
Listl.Additem " "

Listl.Addltem "Member TYPE WT"
ForK=1ToNTL
I = InputBox("Input member index", "Triangular i,oad", "MEMBER", _
6174.1, 1420)
TYP = InputBox("Input type of triangular load", "Triangular Load", "TYPE", _
6174.1, 1420)
WT = InputBox("Input WT", "Triangular Load", "WT", 6174.1, 1420)
Listl Additem I & " "&TYP&" "&" "&WT
Select Case TYP
Case 1
ML(1, ) = AML(1, ) + (-WT * EL() / 4)
AML(2,I) = AML(2, 1) + (-5 * WT * EL(I) ~ 2/ 96)
AML(3,I) = AML(3, D)+ (-WT * EL(I) / 4)
AML(4,1) = AML(4, 1) +(5* WT *EL(1) ~ 2/ 96)
Case 2
AML(1, I) = AML(1, I) + (-3/20 * WT * EL(I))
AML(2, I} = AML(2,1) + (-WT * EL(I) ~ 2 / 30)
AML(3, 1) = AML(3, 1) + (-7 /20 * WT * EL(I))
AML(4,I) = AML(4, 1) + (WT * EL() ~ 2/ 20)
Case 3
AML(E, I) = AML(L, ) + (-7 /20 * WT * EL())
AMIA2, 1) = AML(2, 1) + (-WT * EL() ~ 2/ 20)
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AMLG3, )= AML(3, D+ (-3/20 * WT * EL())
AML(4,1) = AML(4, I} + (WT * EL{I) ~ 2/ 30)
End Select
LML(I)=1
Next K
cmdTril..Enabled = False
cmdResult.Enabled = True
imgTri.Visible = False
Exit Sub

IaN

Err Hand:
MsgBox "Please input 'Load Data' again”, vbOKOnly, "ERROR DATA"™
imgTri, Visible = False
Imagel.Visible = False
cmdPoint, Visible = False
emdUnif. Visible = False
emdTril. Visible = False
cmdMMT.Visible = False
End Sub
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14. Jasunsueies cmdUnif

Private Sub coadUnif Click()
Dim I As Integer, K As Integer
On Error GoTo Err_Hand

imgUnif.Visible = True

Listl.AddItem * "
Listi.AddItern "Uniform Load"
Listl.Addltern " !

Listl.AddItem "Member WU"
For K =1 To NUL
I = InputBox("Input member index", "Uniform Load", "MEMBER", _
6174.1, 1420)
WU =InputBox("Input WU", "Uniform Load", "WU", 6174.1, 1420)
Listl.Addltem I &" " & WU
AML(1, 1) = AMI(1, D+ (-WU *EL(I)/ 2)
AML(2,T)= AMLQ, ) +(-WU*EL(I) ~ 2/ 12)
AML(3, ) = AML(3, I) + (-WU * EL(I) / 2)
AML(4, )= AML(4, ) + (WU *EL(I)~2/12)
LML) =1
Next K
cmdUnif.Enabled = False
cmdResult.Enabled = True
imgUnif.Visible = False
Exit Sub
Err_Hand:
MsgBox "Please input Load Data' again", vbOKOnly, "ERROR DATA"
imgUnif.Visible = False
Imagel.Visible = False
c¢mdPoint.Visible = False

cmdUnif, Visible = False
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cradTriL.. Visible = Faise
emdMMT. Visible = Faise
End Sub



15. Tlsunsutlas Form

Private Sub Form_F¥Load()

cmdMemIn.Enabled = False
cmdJointRe.Enabled = False

c¢mdEoadD.Enabled = False
cmdResult.Enabled = False
Imagel.Visible = False
cmdPoint.Visible = False
cemdUnif. Visible = False -
cmdTril. Visible = False
cmdMMT.Visible = False
imgDJ.Visible = False
imgJL..Vigible = False
imgMMT . Visible = False
imgPoint,Visible = False
imgRes.Visible = False
impTri.Visible = False
imgUnif.Visible = False
Listl.Visible = False
Listl.Clear

End Sub
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16. Jalsunsuges mnuNew

Private Sub mnuNew_Click()
Listl.Clear
End Sub
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17. Yalsunsuges mnuQuit

Private Sub mnuQuit_Click()
frmBeam.Hide
frmMain.Show

End Sub





